TH1-3T74 : 373 & <o U foema faen
M1-R4: IT TOOLS & BUSINESS SYSTEMS

Im|fy : 03 " StfereRan 31 : 100

DURATION : 03 Hours MAXIMUM MARKS:100
SNTHINR viiE H. :
OMR Sheet No.:

A - SeR-YfeRT G, ;

.2 = .

Roll No. : Answer Sheet No.:

wremelt T A ¢ Tremelt o TETer

Name of Candidate : ; Signature of Candidate :

ﬂ'ﬁ'&iTF of it o f?m ﬁi‘ST : Instructions for Candidate:

FHUAT TG, STHAR M Ta Ia-JRahl § 153 T
GRIT %1 egee 9e |

Carefully read the instructions given on Question Paper,
OMR Sheet and Answer Sheet.
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Question Paper is in Hindi and English language.
Candidate can choose to answer in any one of the language.
(i.e., either Hindi or English)

TH AT/ TR % W E | W Tk H =R T AR 9
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There are TWO PARTS in this Module/Paper. PART ONE
contains FOUR questions and PART TWO contains FIVE
questions.

T Uek ' Shfedsh '’ YhR 1 © f9%h Fa ik 40 € qen
YNT &1 ' Afaes ' YR T § SR 5 Fdl 31 60 B |

PART ONE is Objective type and carries 40 Marks.
PART TWO is Subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER
SHEET only, supplied with the Question Paper, as per the
instructions contained therein. PART ONE is NOT to be
answered in the answer book for PART TWO.
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Maximum time allotted for PART ONE is ONE HOUR.
Answer book for PART TWO will be supplied at the table
when the Answer Sheet for PART ONE is returned.
However, Candidates who complete PART ONE earlier
than one hour, can collect the answer book for PART TWO
immediately after handing over the Answer Sheet for
PART ONE to the Invigilator.
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Candidate cannot leave the examination hall/room
without signing on the attendance sheet and handing over
his/her Answer Sheet to the Invigilator. Failing in doing
so, will amount to disqualification of Candidate in this

Module/Paper.
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After receiving the instruction to open the booklet and
before starting to answer the questions, the candidate should

ensure that the Question Booklet is complete in all respect.
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Note : In case of any discrepancy found in Hindi version, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




HIT Teh / PART ONE

(T Ui ok ST S |/ Answer all the questions.)

1.1

o Uik W9 o ST & s [aehed o
T ¥ Uk WO Iuge fashed o oit 3@
YU oh | SUCTS ST T STTHAR "
IAT-Ueh o, 3AH fou Tu e % 3ER,
TS |

Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the “OMR”

answer sheet supplied with the question
paper, following instructions therein.

(1x10=10)

ASCII &1 q01 &9 ¢ :

(A) STARHT WUeE T ®R SARHIA

ELACECNE]

(B) TAfHT WIeE I ®R TARMIA

(C) smfth @M ®Ie ®R SARHIA
ECACARIRCE

(D) STHRHA WUSE HIfET HR TTRHIA
ECACRENE]

Full form of ASCII :

American Standard Code for
Information Interconnection

(B) American Standard Code for
Information Interchange

American Situation Code for
Information Intercommunication

American Standard Coding for
Information Interconnection

1.2

1.3

1.4

10100011 @1 9 ¥ WA | gRafdd
I

(A) 121 (B) 163

(C) 199 (D) 212

Convert 10100011 from binary to
decimal :

(A) 121 (B)
(C) 199 (D)

163
212

HET HT HA @ foRroa 8 st
N o
hAFR T ST HIA 2

(A) afggs
(B) wgHEl gfas
(C) wmm
(D) EEETad

Which characteristic of computer
distinguishes it from electronic calculators?

Accuracy
B) Versatility

(

(C) Storage

(D) Automatic

HTShIATTE IS H Yicahe Sl CTRL+W I FART
ED 1%1@ foRa ST % :

(A) flic @A die Qe & fag

(B) HM Id U I I A o I
(C) oawM foel &l g e & faw

(D) =% foe) @er & faw

In Microsoft word shortcut key CTRL +W

is used for :
(A) Open the Print Dialog box
(B) Update the current web page
(C) Close the current window

(

C
D) Open the new window
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1.5

1.6

1.7

foen e BW &t feafa o, weal &
It 9 o e s o &
gl

(A) RE=ER oA (B) dhaTg

(C) Rl (D) W

To create a copy of files in the event of
system failure, you create a :

(A)
©)

restore file (B)

(D)

backup

firewall redundancy

THUH € H 3k GTshdiel shl 95 95

fore fr=fafad § | &F 91 T ST § 2
(A) R-TH (B) WA Sl
(C) e Hifeh (D) @i

Which of the following is a tool to send
letter to many recipients in MS-Word ?

(A) What-if (B)
(©) (D)

Mail merge

Goal seeking Sorting

fFE TR 1 HAR BSAT ATH! 99 |

1.8

1.9

Teh FATGe-Gel Jorrell H fohdl Jehm o el
(AfYeRieT ) FAEE HR © ?

(A) TTHH
(B) ff-sogex
(C) T FHX
(D) T&T

What type of computers are client
computers (most of the time) in a client-
server system ?

(A)

Mainframe
(B) Mini-computer
©)

(D)

Microcomputer
PDA

1%k SEA M W |1Y 3T T
TSH I AF{0 @ 2 |
A) g AR TA
B) SITiTH
C) whaAT
D) ST HIs &l
maps IP addresses with the
domain names of the sites.

g W STIAR AT T ? (A) URL
(B) DNS
(A) TSR
(©) FTIP
(B) HieH (D) None of the above
(C) TH 3 1l grerhiad
1.10 ferer i foaees | {g-Saiedt wiget i
(D) 38 3R & :
3TIAfd & w9 H fefd 2 g
What type of telecommunications (A) 111 (B) 666
hardware allows you to access the web ?
<© 777 (D) 222
(A) Browser
Permissions of read-only file in Linux
(B) Modem Operating System is represented as :
(C) FTP protocol (A) 111 (B) 666
(D) IRC <o 777 (D) 222
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2.1

2.2

2.3

24

2.5

2.6

2.7

2.8

2.9

=trer oo e g faerer @ |t '@ A
Ted &1 Teh Tol Suge fasheq =+ v
AT foehed W9F-U & |1 SuSTel AT
T FTHIR ' S-uek H, fqw e Fdeit
o ITTER, TS i | (1x10=10)

TRIdER T WIUeaR § S 39 & for :37eh
TS R |

[Pv6 T2 Yilehict TgH okl &0 IR SAided
el % 3113 T &% ¥ § Fa1 T

HogeX T8 e ohl qHE Tkl © 9 WA
fTerSt hed |

T 20 {SH TR HS T TN Hd § |

St T 3/ forTer Tk Ao 9 SAraife faen
gl

ST hIS Teh HId IS € Sl Teh HEER
% HIeTE Y A oot § Sfed g )

e ToEist To it 1 e 1. ok forgeraia
ferene 71

SIS TR Gioeal H&dieh S27 ohl IRl
T gfEfdd s Hehal B |

<reft it i o fafdre w1 § R-wrifafies
g

2.10 e U9 IR Safes S eI U g

2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

2.10

Each statement below is either TRUE or
FALSE. Choose the most appropriate one
and enter your choice in the "OMR"
answer sheet supplied with the question
paper, following instructions therein.

(1x10=10)

Freeware is a software that is available for
use at no monetary cost.

IPv6 Internet Protocol address is
represented as eight groups of four Octal
digits.

The Language that the computer can
understand is called Machine Language.

Magnetic Tape used random access
method.

GNU / Linux is a open source operating
system.

Object code is a source code translated into
machine language through a compiler.

UNIX is a free, reliable alternative to
Windows XP.

Presentation graphics software can
convert numeric data into charts.

Fourth-generation languages are typically
nonprocedural.

Light pen and joystick are both pointing
devices.
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et X B o3 U v1egi Siiv et a1 fae shiet™ Y W o3 7u frerean Hafia 1ef / gl /
T | h | I TG T IR T Ue R U 3T faekhew wya-uA & Wiy fed

“ TR ITX-UAh | gl hi | (1x10=10)
X) (Y)
3.1 |GiReR Sl gt $21 i YA: TUMET St &f9ar 9fed firg #§ g 32T AiteaR T
1 Yefeld a1 T ®
3.2 | T TR Yohst S < A1 Ifysh TeliehyHl S 9 wafdT TR Yl FeeR
IR TIeviied 1 Sedl §, 37 a9 STHM! 9 S ST &t
AT Tl § 39 FEd ©
3.3 | =W 1 T FEd 9@ & ek T THE & THEH % fau 3Thd
T =1 & 92
3.4 |SHT-3T9 HISH HI T2 RT R H ot St 2 Mbps
3.5 |'find TS e B & wnfhet et § 2 e
3.6 |TF HE-UT g W 52X H A9 A T €. F&T W 52X FSht (Key)
%1 T Y B
3.7 |BIOS T& 7 TEe (Edit)
3.8 | T TEITHE SIEE W, AIfeRIT difcheh €9 H Th-gil § 2 FW T
T S e R
3.9 |Gufed o Jai o1 T 1A i IR JaY L Al Aiwee] TR
gl
3.10| sk {4a RDBMS R
TeTie AR
KEERH
Kbps
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3.  Match words and phrases in column X with the closest related meaning of word(s)/phrase(s)
in column Y. Enter your selection in the “OMR” answer sheet supplied with the question
paper, following instructions therein. (1x10=10)

(X) (Y)
3.1 |Software that displays data in a grid, with the capability of integrated software
recalculating numerical data is package
3.2 | A software package that combines two or more applications, Desktop publishing
such as word processing and spreadsheets, providing for software
easy transfer of data between them best describes
3.3 | A set of rules for solving a problem in a given number of ORACLE
steps
3.4 |Data transfer rate of a Dial-up Modem is measured in Mbps
3.5 |Which menu includes the command 'find'? Software
3.6 |A CD-ROM drive is labelled with 52X. Here 52X is a Key
measurement of
3.7 |BIOS is a Edit
3.8 |In a relational database, tables are logically linked to each Data Transfer Rate
other by a
3.9 | A software for locating and managing stored Web pages is Algorithm
3.10|Popular RDBMS Server

Spreadsheet software

Hardware

Kbps
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4. e QU T udek oo | e €t T8 et | Uk Y16 AT a1 ohil o o fotg, e e sien
T E | T SueRt TR < oY 36 o T STRe T Ut whid g 37U fashed ge-us
o Ty fed T STITHSTR ' SAe-Ueh | &St i |

(1x10=10)

A. |3TEERE B. | 10 e
D. |®mrEer E. | g= 8
G. |2 H. | s fawen ShiHeh (Sequential)
J. |Fhe K. | sfas W ST
M. |3=8eqe
4.1 YT S UF ITENTRAT SR FEARR % o H TURY % ®9 § HE Ll § Y
FEA G |
4.2 g &1 grafEn ¥ fafrm = € sge, gafd,
4.3 UTH FE&E <9 R YT bl THIH HIH Hl TRl §
4.4 T T § S gfa- o faeron s sriaae arg oo § orfed il § |
4.5 3ffdEd HEA YU H STER § |
4.6 A T S T iyl w9 H Gfed O weqq fohen R ¥
4.7 HR T Sl T T W ITAH 9 e IR fewfed w1 H Sepe B
4.8 T &Y TS ¢ S U e, HAS 91 37 HEeR & &l HEd ot 7

4.9 TH YARI fogent 1 e S &t STE9dehal el € 98 §

4.10 T Jo-iHe fhd U TGS A1 Toh O & o TF 90 g5 o fau ue fasme &t
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4. Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list
below. Choose the most appropriate option, enter your choice in the “OMR” answer

sheet supplied with the question paper, following instructions therein. (1x10=10)
A. | Icon B. | 10 C. | Random

D. | Compiler E. | Information F. | 8

G. | Template H.| Operating System I. | Sequential

J. | Mainframes K.| Dynamic RAM L. | Assembler

M. | Output

4.1 Program which acts as an interface between a user and the hardware is called

4.2 Different stages in information processing are input, processing,

4.3 The way of accessing information on a magnetic tape is

4.4 is a program that translates mnemonic statements into executable

instructions.
4.5 Base of Octal number system is
4.6 is data that has been organized or presented in a meaningful fashion.

4.7 are computers that excel at executing many different computer programs

at the same time.

4.8 An is a small image that represents a file, command, or another

computer function.

4.9 A memory that requires refreshing of data is

4.10 A pre-formatted document or a wizard for fill-in-the-blank creation of a document is
called
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I @1 / PART TWO

(frsi R ugAi s S 1/

Answer any FOUR Questions.)

HIE i YRU < | Il G&A
foreremd 1T |

e < fafu= gl W wfara feofore
fore |

AT W <9merd H Ufied= o fom fod |
(1011.101),, <l SRrHerel | TREfdd i |

Define Computer. Explain the main
characteristics of Computer.

Write short notes on different types
of Computer.

Give the rules of conversion Binary
to Decimal. Convert (1011.101), into
Decimal.

(6+5+4=15)

(©)

T H & WY § HY iR e
=1 fafyredet = =aren =X

HIFST ThiTT T 37T -1 THIA § 2

fiet 0 © 3R Sues fafy= g ==
g2

Explain the characteristics of the CU
and ALU in the CPU of a Computer.

What do you understand by Coding
Schemes?

What is Printer and it's different

es ?
p (5+4+6=15)
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forers Teftd ood =t w3 | faSs
T 3ueTey fafy=1 YR & Tefid Ted &
IR H fod |

AT, e WA iR R
15| hi AT i |

ArRfen fog=n 7 fafy= g =t
S G % 91§ fod |

Define Windows admin tools.
Provide various types of available
admin tools in windows.

Explain the terms resolution, aspect
ratio and refresh rate.

Provide the different types of
directory structure in Operating

System.
(6+4+5=15)

TRIETET 1§ 2 WIHfET il HEwergul § ?

TR UiES H TES Sy 1 2 iek
Tige H ieiier & on] fohan i § 2

SIS Wivel TEeH (TE. 1.3, )
%1 gy fad | WM 9ER +
S .3, | = iy €, forg |

39 gei-fouer & @Y fewma iR
M - R €21 o9 § &1 Sia oai |

What 1is slide transition in
PowerPoint? How to Apply a
Transition in PowerPoint?

Define Intellectual Property Rights
(IPR). Provide general types IPR
include.

(b) TS EET H U 373 hi AT Y |
(c) Provide the main difference between
(c) THTH g€ H g WRIET 9 giea Relational and Non-Relational
e ST & 2 Database with its pros and cons.
’ (4+6+5=15)
(@) What is formatting ? Why is
formatting important ? -00o0-
(b) Explain Page layout in Word-
processing.
() How to create Cross Referencing in
MS - Word ?
(4+7+4=15)
Page 10 SPACE FOR ROUGH WORK M1-R4-07-19



SPACE FOR ROUGH WORK

Page 11 M1-R4-07-19



SPACE FOR ROUGH WORK

Page 12 M1-R4-07-19



